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1. A particle P of mass 1.5 kg is moving along a straight horizontal line with speed 3 ms.
Another particle O of mass 2.5 kg is moving, in the opposite direction, along the same
straight line with speed 4 ms™!. The particles collide. Immediately after the collision the
direction of motion of P is reversed and its speed is 2.5 ms.

(a) Calculate the speed of O immediately after the impact.
3

(b) State whether or not the direction of motion of Q is changed by the collision.

Oy

(c) Calculate the magnitude of the impulse exerted by O on P, giving the units of your
answer.
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2. Figure 1
- T
N la I
> B
A C
< 3 >|
404 VL
A plank 4B has mass 40 kg and length 3 m. A load of mass 20 kg is attached to the plank
at B. The loaded plank is held in equilibrium, with 4B horizontal, by two vertical ropes
attached at 4 and C, as shown in Figure 1. The plank is modelled as a uniform rod and
the load as a particle. Given that the tension in the rope at C is three times the tension in
the rope at A4, calculate
(a) the tension in the rope at C,
2
(b) the distance CB.
(©))
a) 1\/ TA + T, = 60g
‘ ~
“Te + T, = (Oq
o = R)
4 T, = 6o0q
73 C 3
T, = LOq x 3 =454 =244\ N
C (N - [N )
4
\
!3) Mohtnks albout 8
TLst +T,q.x3 "'40c-\'xlf
ASex 4+ ISax3 = (o
d 3 3
45-&'&3( = !S}\ x = IS¢q = _1I
14 < p— z
4Sa
. <g = i{ = J
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3. Figure 2
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A sprinter runs a race of 200 m. Her total time for running the race is 25s. Figure 2 is a
sketch of the speed-time graph for the motion of the sprinter. She starts from rest and
accelerates uniformly to a speed of 9ms™! in 4s. The speed of 9 ms™' is maintained for
16 s and she then decelerates uniformly to a speed of ums™ at the end of the race.
Calculate
(a) the distance covered by the sprinter in the first 20 s of the race,
2
(b) the value of u,
C))
(c) the deceleration of the sprinter in the last 5 s of the race.
3
. t
0“) A/‘(a ofC é.fafezwu\ '7_‘ (Zo_l—-m)xq - ]LZM
!)) Rermesming e = 200 — 162 = 38w
J
/ .
L ( A4+v )x § = 3%
2 - ’
s(@+0) = 76
45 +Sus = ¢
-
- [ ] [ | [ |
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Question 3 continued
Su =
1
U= €.2 ms
C) Dac.e,\eraéfon = q-vu = 9-C(.2
5 5
= 0.6 wms”
Q3
(Total 9 marks) _}
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4. o  Figure 2‘ 57'0 ‘ ;"&
- 10 ma ?
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\ §2-0
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%
A particle P of mass 2.5 kg rests in equilibrium on a rough plane under the action of a
force of magnitude X newtons acting up a line of greatest slope of the plane, as shown in
Figure 3. The plane is inclined at 20° to the horizontal. The coefficient of friction
between P and the plane is 0.4. The particle is in limiting equilibrium and is on the point
of moving up the plane. Calculate
(a) the normal reaction of the plane on P,
2
(b) the value of X.
C))
The force of magnitude X newtons is now removed.
(c) Show that P remains in equilibrium on the plane.
(C))
o
a> R = 2.54cesl0 = Z3.0N
J
E) X = Z-S’a\ Sta 20 J—IU-K
J 4
X = 2.5a5i220 + 0.4 x2.5¢cos20
v Jd
X = [ /.6 N
¢) Fax frickon = puR = 0.&x2.5 cos20°
¢ LS}
= 1.2I' N
Mmasia20 = 2.5x4.8 520 = §.38N
J
S""”Ce X,Sg < 7. 2( F re masS In eivflf(ov’(.vrm
J
| N .
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5. Figure 4

A (0.5kg)

V)

N
NI

A block of wood 4 of mass 0.5 kg rests on a rough horizontal table and is attached to one
end of a light inextensible string. The string passes over a small smooth pulley P fixed at
the edge of the table. The other end of the string is attached to a ball B of mass 0.8 kg
which hangs freely below the pulley, as shown in Figure 4. The coefficient of friction
between A4 and the table is y. The system is released from rest with the string taut. After
release, B descends a distance of 0.4 m in 0.5 s. Modelling 4 and B as particles, calculate

(a) the acceleration of B,

(©))

(b) the tension in the string,

(C))

(c) the value of u.
(5)

(d) State how in your calculations you have used the information that the string is
inextensible.

M)
os) For B S = vk + 2at

L

L

= LB
N16740A 10



January 2005

physicsandmathstutor.com
Leave\
blank
Question 5 continued j
l—.») " ,
YAT32ns N2L
Vv F = me
\V4
0.83 0.23-—7' = O0.¥x 3.2
0.83 —0.8x3.2 =T
T = S.28 N
NR=0-Sq
<)
&~ |—> T =528
f |
A4
0-Sa
B N2 = ma
5.‘2.?";. - O.S-x3.z.
5.28—-1.,6 = F
Ff/uﬂ
3.6 = 2 K
3.68 = s, 0.5q
/ S
3.68 =
0.8 ¢
J
w = O0.1151
/
N Q5
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6. A stone S is sliding on ice. The stone is moving along a straight horizontal line ABC,
where 4B =24 m and AC = 30 m. The stone is subject to a constant resistance to motion
of magnitude 0.3 N. At A the speed of S'is 20 ms !, and at B the speed of Sis 16 ms™'.
Calculate
(a) the deceleration of S,
2
(b) the speed of S at C.
(®))
(¢) Show that the mass of S'is 0.1 kg.
2
At C, the stone S hits a vertical wall, rebounds from the wall and then slides back along
the line CA. The magnitude of the impulse of the wall on S is 2.4 Ns and the stone
continues to move against a constant resistance of 0.3 N.
(d) Calculate the time between the instant that S rebounds from the wall and the instant
that S comes to rest.
(6
-
- [ ] [ | [ |
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Question 6 continued

Q6
(Total 13 marks) _}r
| |

N16740A

13

Turn over

L

L



IA*;I

‘I#r

physicsandmathstutor.com January 2005

L

L

( Leave\
blank
7. Two ships P and Q are travelling at night with constant velocities. At midnight, P is at
the point with position vector (20i+ 10j) km relative to a fixed origin O. At the same
time, Q is at the point with position vector (14i— 6j) km. Three hours later, P is at the
point with position vector (29i + 34j) km. The ship Q travels with velocity 12j kmh™!. At
time ¢ hours after midnight, the position vectors of Pand Q are pkm and qkm
respectively. Find
(a) the velocity of P, in terms of i and j,
2
(b) expressions for p and q, in terms of ¢, i and j.
C))
At time ¢ hours after midnight, the distance between P and Q is d km.
%
(c) By finding an expression for PQ, show that
d?>=25-92t+292.
(€))
Weather conditions are such that an observer on P can only see the lights on O when the
distance between P and Q is 15 km or less. Given that when #= 1, the lights on O move
into sight of the observer,
(d) find the time, to the nearest minute, at which the lights on Q move out of sight of the
observer.
(©))
_ 24 Y o) G
59 Fo o vV - 34 16 24
2 X
> ~
Vo= (3) = 3.8y ke/A
- \?%)
/ 1 p
L) For P S -5, =vlC + z4a¢€
/ A L\
£ —(22) =(3)t +0
{ \10) \ ¢ / —
‘12' = / 20 \ o / 3 \ é
\10) \8]
- J
- [ ] [ | [ |
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(20 +3¢) +(0r8e)}
- \)

For @ S -5 zuk +tat
g —[14\ = [6\¢t + o
() T (! =
2] = / \4"/ \
v \\ / (l/

Q) P = -p +y

-(20+3¢)L - ((o€8€); +lai +(-6xi2e);
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16

/ P .
= (—6-3¢) + (~le+qe);
2 /! \'L Pa -.L
d = (~6-3t) +(-16+4E)
PR} 2 I3
A = 36 YICE+A€ +25L —128€ 414t
A% = 247 —926 +25E"
R 'z
d) d =1SKn =) 4 =228
/ o7
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